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o Positive production externalities
A positive side effect (spillover benefit) that occurs when a good
is produced. Eg. Mt biking in forests, workplace training, bee keeping.
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(MC = private benefit to producers, the
market supply curve.
SMC = total cost to society. Marginal costs
to firms are offset by benefits (positive
benefits) gained by a third party - the arrow
(sme). |

The free market (private) equilibrium price
and quantity is where MC = PMB (je. where
MD = MS). Only private costs and benefits are
considered. The social equilibrium quantity
(Q®)is where SMC = PMB."

To ensure consumers buy this increased
quantity, the price to consumers must be

lowered to the social equilibrium price (Ps). To
ensure firms produce this increased quantit;
Qe price they receive must increase to P%

Externality — Spillover costs or |
benefits to a third party as a
result of consumption or
production of a good.

ISpillover benefits — A positive
iside effect to a third party as a
result of consumption or
production of a good.

Private marginal cost — The
cost to a firm of producinga
f his is shown
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o Government intervention - positive production externalities
The free market fails to consider spillover benefits of production
so the government is justified to intervene (eg. subsidy, provision).

(Government intervention —
\Government forces
producers/consumers to
internalise the externality.

Price § As goods are over-priced and under-

supplied, there is loss of consumer and
producer surplus, as shown by the
deadweight loss (DWL ). This illustrates
the benefit that society should receive from
increased consumption at a lower price but
\does not due to market failure. /

Internalise an externality —
IConsumers/producers receive
the full benefits/pay the full
lcosts of consumption and
production.
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MB

Deadweight loss — Lost
me government may provide a subsidy\\ lbenefit to soci Il

so the price to consumers falls (P” to P%) :
to where the social equilibrium quantity is
consumed (Q°) and the price producers
receive increases (P” to PZ) so they
produce the social equilibrium quantity
(Q®). The subsidy results in the social
equilibrium being achieved (E*), the
deadweight loss being removed and
@ocative efficiencv is increased.
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llustrate the effects chosen policies will have on the market failure on an
‘economic model

Eg. Show the effect of the subsidylregulation on the market failure by
making changes to the PMC, SMC and MB graph and abelling the new
price paid by consumers, received by producers and the new quantity.

Explain how equitable andjor efficient the chosen policies are in correcting
the market failure

Eg. With reference o your graph, explain in detail how each policy works
to address the market failure. Explain in detail how equitable each poiicy

i in correcting the market failure. Explain in detail how efficient each policy
s in correcting the market failure now and in the future.

Ollc osidies:
fair as not all taxpayers/mm -

Q"Q° Quantity

Market for a public good

| taxpayers benefitlopportunity cost
r, a DWL ocours

Maximum
capacity
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tion - negative production externalities

MC

The free market fails to consider spillover costs of production
so the government is justified to intervene (eg. sales tax, regulation).

KAS goods are under-priced and over- \
supplied, there is loss of consumer and
producer surplus, as shown by the
deadweight loss (DWL4). This illustrates
the benefit that society should receive from
decreased production at a higher price but
Qoes not due to market failure. J

ﬁe government may impose a sales tax
so the price to consumers rises (P” to P%)
to where the social equilibrium quantity is
consumed (Q®) and the price producers
receive decreases (P” to P?) so they
produce the reduced social equilibrium
quantity (Q%). The sales tax results in the
social equilibrium being achieved (E*F),

(M. E—
Q°Q" Quantity

the deadweight loss being removed and

iGovernment intervention —
Government forces
producers/consumers to
internalise the externality.

lInternalise an externality —
IConsumers/producers receive
the full benefits/pay the full
lcosts of consumption and
lproduction.

IDeadweight loss — Lost benefit||
to society from producer and |
lconsumer surplus not being
imaximised.. =

@ocative efficiencv is increased.
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the market failure Eg. With reference to your graph, explain in detail how
each policy works to address the market failure. Explain in detail how
equitable each policy is in correcting the market failure. Explain in detail
Khow efficient each policy is in correcting the market failure.

Negative externalities of
production
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